

FlexiPrep: Downloaded from flexiprep.com

For solved question bank visit doorsteptutor.com and for free video lectures visit [Examrace YouTube Channel](#)

Class 8 Assignment for Factorization 1questions and Answers Paper (For CBSE, ICSE, IAS, NET, NRA 2022)

Get top class preparation for NSO right from your home: [fully solved questions with step-by-step explanation](#)- practice your way to success.

Question 1

Use the below expression to solve the below problems

$$a^2 - b^2 = (a - b)(a + b)$$

a. $x^2 - 81$

b. $49a^2 - 36$

c. $121 - 49z^2$

d. $4x^2 - 9y^2$

e. $16x^2 - 225y^2$

f. $9x^2y^2 - 25$

g. $16x^2 - 81$

h. $(a + b)^2 - 9c^2$

i. $a - (x - y)^2$

j. $4(x + y)^2 - x^2$

k. $36(a + b)^2 - 16(a - b)^2$

l. $20x^2 - 45y^2$

m. $z^3 - 81z$

n. $12p^2 - 27$

o. $3z^5 - 27z^3$

p. $36a^2b^2 - 8$

q. $z^2 - x^2 - 2x - 1$

r. $9x^2 - y^2 + 4y - 4$

$$s. p^2 - 2pq + q^2 - r^2$$

Question 1

User the below expression to solve the below problems

$$(a + b)^2 = (a^2 + b^2 + 2 ab)$$

$$(a - b)^2 = (a^2 + b^2 - 2 ab)$$

$$1. p^2 + 4p + 5$$

$$2. x^2 + 19x + 81$$

$$3. 3 + 6z + z^2$$

$$4. 9 + 6x + x^2$$

$$5. z^2 + 6xz + 9x^2$$

$$6. 9x^2 + 30x + 25$$

$$7. 36z^2 + 12z + 1$$

$$8. 9x^2 + 30x + 25$$

$$9. z^2 + z + \frac{1}{4}$$

$$10. 4z^2 - 6z + 9$$

$$11. 4p^2 - 20p + 25$$

$$12. 9x^2 + 30x + 25$$

$$13. 1 - 2y + y^2$$

$$14. 4 - 12y + 9y^2$$

$$15. x^2y^2 - 6xyz + 9z^2$$

$$16. p^2 - 6pq + 9p^2$$

Question 3

Find and correct the error in the statement:

$$(3x)^2 + 5x = 9x + 5x = 14x$$

Answer

$$\text{LHS} = (2x)^2 + 5x = 4x^2 + 5x$$

$$\text{RHS} = 9x + 5x = 14x$$

$$\text{Third} = 14x$$

LHS \neq RHS = Third part

Correct statement would be

$$(3x)^2 + 5x = 9x^2 + 5x$$

Question 4

Find and correct the errors in the statement:

$$(4x + 2)^2 = 2x^2 + 16x + 4$$

Answer

$$\text{LHS} = (4x + 2)^2 = 16x^2 + 16x + 4$$

$$\text{RHS} = 2x^2 + 16x + 4$$

$$\text{LHS} \neq \text{RHS}$$

Correct statement would be

$$(4x + 2)^2 = 16x^2 + 16x + 4$$

Question 5

Find and correct the errors in the statement:

$$(z - 1)^2 = z^2 - 1$$

Answer

$$\text{LHS} = (z - 1)^2 = z^2 - 2z + 1$$

$$\text{RHS} = z^2 - 1$$

$$\text{LHS} \neq \text{RHS}$$

Correct statement would be

$$(z - 1)^2 = z^2 - 2z + 1$$

Question 6

Find and correct the errors in the statement:

$$(y + 6)^2 = y^2 + 36$$

Answer

$$\text{LHS} = (y + 6)^2 = y^2 + 12y + 36$$

$$\text{RHS} = y^2 + 36$$

LHS \neq RHS

Correct statement would be

$$(y + 6)^2 = y^2 + 12z + 36$$

Developed by: [Mindsprite Solutions](#)